Y TORNEO C-325

HEPE‘-IEHb KOMIMJ1eKTYHOLWNX

Ne OnucaHue Cneuudukaums Kon-Bo, wt
1 TpPeHUPOBOYHbIV KOMMbIOTED
2 BUHT M5x10 4
3 Mopy4eHb D254
4 BUHT ST3.5x20 2
5 Jat4vku 2
6 Pipe Plugs D25.4 2
7 CeHCop 4acToThl Ny/bca D23x5Tx500 2
8 Perynatop Harpysku 2
9 Brynka D38x25 2
10 LLlanba BoaHoBas 19.5x30x0.3 2
1 AATHUK D31.8 2
2 LLlanba nsorHyTas M8x19x2 16
3 BOAT C BHYTPEHHUM LWeCTUrPaHHMKOM M8x55xP1.25 2
4 [lopy4YeHb MasTHWUKOBbIN D28.6x1.5Tx705 2
5 3arnyuwika D28 2
6 OnsieTka nopy4Hs MasTHUKOBOro D26x5Tx650 2
7 abenb ceHcopa 2
18 BonT ¢ KBaApaTHbIM NOATO/I0BHUKOM M8x35xP1.25 4
19 LWanba 8.5x25x2 4
20 LWanba 2
21 BOAT LWeCTUrpaHHbIn M8x20xP1.25 2
22 CoeanHuTenb 2
23 BTy/Ka 4
24 BTynika 8.0x11.8x40 2
25 NogwmnHuK 6002 4
26 BOAT C BHYTPEHHUM LWeCTUrPaHHVKOM M8x16xP1.25
27 abenb CUrHaNbHbIV BEPXHUI 000
28 abenb CUrHaNbHbIN HUKHWA 200
29 LLlanba M8x16x2
30 pbllIKA [leKopaTuBHag nesas 2
31 LLlanba M8x19x2 7
32 arHuT B cbope
33 BOAT WecTUrpaHHbIv M8x55xP1.25
34 BOAT LeCcTUrpaHHbIin M10x48
35 BTynika 10x15.8x6
36 NogwmnHnK 6900
37 PonvK D40
38 Lanba 10x15.8x9
39 fanka M10x8
40 Camopes ST3.9x16 8
4 Wanba 4.5x16x1.5 8
42 pecrToBMHa 2
43 LaTyH 2
44 LLlanba BoNHOBas D19 1
45 Onopa n1athopmbl AN HOr eBas/npasas 2
46 3arnywka 6
47 fanka M8x7 2
48 Mnarpopma ans Hor neeas/npasas 2
49 BOAT € KBAAPATHbIM MNOAr0/I0BHUKOM M6x50 4
50 LLlanba 6x13x1 4
51 PykosTka M6 4
52 O0XYX [1eKOPaTUBHbIN S1EBbIV/NPaBbIN 2
53 Camopes ST3.9x10 2
54 Camopes 8
55 Brynka 4
56 LLlanba BofHOBas 16.5x21x0.3 2
57 0NbLo 2
58 ramka M10xP1.25 4
59 Anck 2
60 BONT WecTUrpaHHbIn M8x12xP1.2 3
61 Ocb WwKkmMBa 17x159
62 PemeHb NprBOAHON 410)6
63 LKkne
64 BTynka 17x22x10
65 NoAWwnnHUK 6203 2RS 2
66 3arnyLuka onopsbl 3agHen 2
67 BonT ¢ KBagpaTHbIM NOArOI0BHUKOM M8x75xP1.25 4
68 Onopa 3aaHas D60 1
69 [anKa Konnavkosas M8 8
70 Pama ocHoBHas
71 fanka 3/8"-26x4.5
72 MpocTtaBka 0x17x1
73 [anka 3/8"-26x3.8 4
74 0/1bLIO 10x13x2
75 MoAWwnnHNK 6000 2
76 ax0BUK D260x30W
77 BTyaka 10x14x6
78 BTyaka 10x14x21
79 [anka 3/8"-26x7
80 BUHT M5x12
81 onnayoK
82 LLlanba BoaHoBas 17.5x25x0.3
83 LLanba 17.5%x25x0.3
84 LLlanba cTonopHas 15.7x19.4x1
85 3arnylika nepesiHert ONopbl C TPAHCMOPTUPOBOYHbBIM POSUKOM
86 dukcaTop
87 Bupka
88 Onopa nepeaHas D60
89 BuHT M8x55xP1.25
90 CTounKa Nopy4Ha
91 Lilanba nsorHytas
92 BuHT M5x40
93 Ocb MadTHMKA D19x386
94 BUHT ST3.0x10
95 BTy/Ka 8x11x4.5 4
96 BUHT ST3.9x50 5
97 pbliLLKa 2
98 S04 LIECTUrPAHHbIV
99 JIt0Y raeyHbIv
100 BONT C BHYTPEHHMM LWECTUTPAHHNKOM M8x20xP1.25
101 Ocb MaxoBuKa D10x131
102 K104 MHOrODYHKLMOHAbHbIV
103 Lllanba rposepHas 8.5x13.5 2




C-325

MoaeTasnibHaa cxema TpEHaXKepa




